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1. What s the factored form of g% — 12 + 362
A(G+6)g—6) B.(G—6)g—6 C(q-9(q+4

2. Whatis the factored form of 9x* + 12x + 47
F (3x + 2)% G. (3x + 3)? H. (3x — 2)

3. Whatis the factored form of x* — 1962
A (x — 14)2 B. (x + 14)2 C (x — 28)(4x + 7)

4. Whatis the factored form of 9x* — 647
F (3x — 8 G. (3x + 8)% H. (3x — 8)(3x + 8)

5. What is the factored form of 12m? — 757
A.3(2m — 5)% B. 3(2m + 5)(2m — 5) C. 3(2m + 5)*

6. Whatis the factored form of 49x> — 56x + 167
F (7x — 4)? G. (7x + 4)(7x — 4)  H. (7x + 4)?

Extended Response

D. (g + 4)(g + 9)

I. (3x — 3)%

D. (x — 14)(x + 14)

1. (9x — 8)(x + 8)

D. (6m — 25)(2m + 3)

I (7x — 8)2

7. Afour-sided building has an area of 36x% + 48x + 16. Explain how to find a
possible length and width of the building. What is a possible shape of the

building?




